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QUESTION 1

In distributed system tracing, is the term used to refer to a request as it passes through a single component of the
distributed system? 

A. Log 

B. Span 

C. Trace 

D. Bucket 

Correct Answer: B 

Explanation: https://www.splunk.com/en_us/data-insider/what-is-distributed-tracing.html 
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Text, letter 

 

QUESTION 2

Which of the following computing model doesn\\'t require you to provision infrastructure? 

A. None of the above 

B. Bare Metal 

C. Compute Engine 

D. Virtual Machines 

E. Serverless 

Correct Answer: E 

 

 

QUESTION 3

What is the main difference between Argo vs. Flux CD? 

A. Argo is pull-based, and Flux is push-based 

B. No difference; both are pull-based 

C. Argo is push-based, and Flux is pull-based 

D. No difference; both are push-based 
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Correct Answer: C 

 

Explanation: AgroCD: https://argo-cd.readthedocs.io/en/stable/developer-guide/ci/#can-i- retrigger-thechecks-without-
pushing-a-new-commit FluxCD: https://fluxcd.io/ 

 

QUESTION 4

Continuous delivery is ______. 

A. Manually deploying the code 

B. Coding, Building and Testing the code 

C. Automatically deploying code to [container or server] environment 

Correct Answer: C 

 

QUESTION 5

To specify a Kubernetes object which language is used? 

A. JSON 

B. Go 

C. YAML 

D. Node 

E. Python 

Correct Answer: C 

Explanation: https://kubernetes.io/docs/concepts/overview/working-with- objects/kubernetes-objects/ 
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